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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]

200 K &/m\m\CJﬂ 'I—\\/«IA HVAVA\V JT\UA\-/T_\\ =
VYT ' o

100 | i

30.0 : e i

27.5 E ’_/AVA\,A\/J‘M \v\’\/\ ——  Topt

25.0 1 \,\v‘

22.5 i \\/\'\\

AW ATIVVA VRN

sol [TV i

T |
1 —
: ———  RHopt
1
1
80 : P | A

70

<V7

M |
60 \l | :

0 25 50 75 100 125 150 175

|
— ETcl

VAU ===

1200 -

1000 /\ l\
/

800 V \\
600 | \%
400 M IT/—\/V \‘\

T NA
\Y)

0 25 50 75 100 125 150 175

1.75

i o \ | LAl
1.50 i /\/ \

|
1.25 | \
1.00 /; \
0.75 / I
0.50 /

0.25 ] — \
0 25 50 75 100 125 150 175
d
1.4 I T —
—— optEtRate
VAN M [ V[V [
L WA WA Ty
1.0 A V’" v V \/ V

. r\/\\\ %
|

J “

0.2  —

0 25 50 75 100 125 150 175



700
600
500
400
300
200
100

Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

XX

setVI_ETcl
setVIl_fgRec
setVIl_VN
s|SetVI




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AE_E
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